

# The Distribution Of Prime Numbers And The Continued Fractions

Mohammed Bouras

mohammed.bouras33@gmail.com

**Abstract.** In this paper, we present a new sequence containing only ones and the prime numbers, which can be calculated in two different ways, the first way using the greatest common divisor (gcd) and Kurepa left factorial function, the second way consisting of using the denominator of the continued fraction defined by

$$\frac{mb(n-3) - nb(n-4)}{n(m-n+2) - m} = \cfrac{1}{2 - \cfrac{3}{3 - \cfrac{4}{4 - \cfrac{5}{\ddots (n-1) - \cfrac{n}{m}}}}}$$

Our sequence defined by

$$a_m(n) = \frac{|n(m-n+2) - m|}{\gcd(n(m-n+2) - m, mb(n-3) - nb(n-4))}$$

Where  $|x|$  denotes the absolute value of  $x$ .

**Keywords.** Prime numbers, continued fraction, left factorial, sequence.

## 1. Introduction and preliminaries

A continued fraction is an expression of the form

$$a_0 + \frac{b_0}{a_1 + \frac{b_1}{a_2 + \frac{b_2}{\ddots}}}$$

Other notation

$$a_0 + \frac{b_0}{a_1 +} \frac{b_1}{a_2 +} \frac{b_2}{a_3 +} \dots$$

Where  $a_i$  and  $b_i$  are either rational numbers, real numbers or complex numbers. For more details see [3].



**Theorem 1.1.** For all integers  $n \geq 3$ . The continued fraction

$$\frac{mb(n-3) - nb(n-4)}{n(m-n+2) - m} = \frac{1}{2 - \frac{3}{3 - \frac{4}{4 - \frac{5}{\ddots (n-1) - \frac{n}{m}}}}} \quad (1)$$

Where  $m$  is a polynomial in term  $n$ .

**Proof.** Let

$$a_1 = 2a_2 - 3a_3; a_2 = 3a_3 - 4a_4; a_3 = 4a_4 - 5a_5; a_4 = 5a_5 - 6a_6$$

Then we have

$$\begin{aligned} \frac{a_2}{a_1} &= \frac{a_2}{2a_2 - 3a_3} = \frac{1}{\frac{2a_2 - 3a_3}{a_2}} = \frac{1}{2 - \frac{3a_3}{a_2}} = \frac{1}{2 - \frac{3}{\frac{3a_3 - 4a_4}{a_3}}} \\ &= \frac{1}{2 - \frac{3}{3 - \frac{4a_4}{a_3}}} = \frac{1}{2 - \frac{3}{3 - \frac{4}{\frac{4a_4 - 5a_5}{a_4}}}} = \frac{1}{2 - \frac{3}{3 - \frac{4}{4 - \frac{5a_5}{a_4}}}} \end{aligned}$$

After some simplification, we find

$$\frac{a_2}{a_1} = \frac{1}{2 - \frac{3}{3 - \frac{4}{4 - \frac{5}{\ddots (n-1) - \frac{na_n}{a_{n-1}}}}} \quad (2)$$

From (1) and (2), we have

$$ma_n = a_{n-1} \quad (3)$$

We write  $a_1$  in terms of  $a_{n-1}$  and  $a_n$

$$a_1 = 2a_2 - 3a_3 = \dots = (n-1)a_{n-1} - (n^2 - 2)a_n \quad (4)$$

Substituting (3) in (4), we find

$$a_1 = (n(m-n+2) - m)a_n$$

Using the same procedure for  $a_2$ , we have

$$a_2 = 3a_3 - 4a_4 = 8a_4 - 15a_5 = 25a_5 - 48a_6 = \dots$$

We observe that

$$a_2 = b(n-3)a_{n-1} - nb(n-4)a_n \quad (5)$$

Substituting (3) in (5), we get

$$a_2 = (mb(n-3) - nb(n-4))a_n$$

Returning to (2), we obtain

$$\frac{a_2}{a_1} = \frac{mb(n-3) - nb(n-4)}{n(m-n+2) - m} = \frac{1}{2 - \frac{3}{3 - \frac{4}{4 - \frac{5}{\ddots (n-1) - \frac{n}{m}}}}} \quad (6)$$

This complete the proof.

**Theorem 1.2.** For all integers  $n \geq 3$ . The denominator of the continued fraction is as follows

$$n(m-n+2) - m = 2(mb(n-3) - nb(n-4)) - 3(mc(n-3) - nc(n-4))$$

Where  $m$  is a polynomial in term  $n$ .

*Proof.* Similarly, using the same procedure as that of proving the theorem 1.1

We have

$$a_3 = 4a_4 - 5a_5 = 15a_5 - 24a_6 = 66a_6 - 105a_7 = \dots$$

We observe that

$$a_3 = c(n-3). a_{n-1} - nc(n-4). a_n \quad (7)$$

Substituting (3) in (7), we find

$$a_3 = (mc(n-3) - nc(n-4))a_n$$

Then, we have

$$a_1 = 2a_2 - 3a_3$$

$$(n(m-n+2) - m)a_n = [2(mb(n-3) - nb(n-4)) - 3(mc(n-3) - nc(n-4))] \cdot a_n$$

Then, we get

$$n(m-n+2) - m = 2(mb(n-3) - nb(n-4)) - 3(mc(n-3) - nc(n-4))$$

This completes the proof.

**Theorem 1.3.** For all integers  $n \geq 3$ . The continued fraction

$$\frac{2.(mb(n-3) - nb(n-4))}{n(m-n+1)} = \frac{1}{1 - \frac{1}{2 - \frac{2}{3 - \frac{3}{\ddots (n-1) - \frac{n-1}{m}}}}} \quad (8)$$

Where  $m$  is a polynomial in term  $n$ .

*Proof.* Similarly, Using the same procedure of proof the theorem (1.1)

Putting

$$a_1 = a_2 - a_3 ; a_2 = 2a_3 - 2a_4 ; a_3 = 3a_4 - 3a_5 ; a_4 = 4a_5 - 4a_6 ; \dots$$

And we obtain the desired result.

### Remark 1

For  $m = n$ , the Kurepa left factorial function is as continued fraction

$$K(n) = !n = \frac{1}{1 - \frac{1}{2 - \frac{2}{3 - \frac{3}{\ddots (n-1) - \frac{n-1}{n}}}}}$$

The more interesting sequence follows

### 2. The sequence $a_m(n)$

The sequence of the unreduced denominator of the continued fraction (theorem 1.1) is as follows

$$a_m(n) = \frac{|n(m - n + 2) - m|}{\gcd(n(m - n + 2) - m, mb(n - 3) - nb(n - 4))}$$

Where  $\gcd(x, y)$  denotes the greatest common divisor of  $x$  and  $y$ .

### 3. Main results

In this section we present some new results for our sequence in the following conjectures

**Conjecture 3.1.** For all integers  $n \geq 2$  and  $m = n + 1$ . The sequence of the unreduced denominator is as follows

$$a(n) = \frac{2n - 1}{\gcd(2n - 1, b(n - 2) + b(n - 3))}$$

The values of  $a(n)$

3, 5, 7, 3, 11, 13, 1, 17, 19, 1, 23, 1, 1, 29, 31, 1, 1, 37, 1, 41, 43, 1, 47, 1, 1, 53, 1, 1, 59, 61, 1, 1, 67, 1, 71, 73, 1, 1, 79, 1, 83, 1, 1, 89, 1, 1, 1, 97, 1, 101, 103, 1, 107, 109, 1, 113, 1, 1, 1, 1, 1, 127, 1, 131, 1, 1, 137, 139, 1, 1, 1, 1, 149, 151, 1, 1, 157, 1, 1, 163, 1, 167,...

The sequence  $a(n)$  takes only 1's and primes in order (except for the prime  $a(5) = 3$ ). We have verified this conjecture to  $n = 10000$  by using the denominator of the continued fraction in the theorem (1.1) for  $m = n + 1$ . The checking was facilitated by the following observation: except for  $n=5$ ,  $a(n) = 2n - 1$  if  $2n - 1$  is prime, 1 otherwise.

**Conjecture 3.2.** For all integers  $n \geq 2$  and  $m = n - 3$ . The sequence of the unreduced denominator is as follows

$$a(n) = \frac{2n - 3}{\gcd(2n - 3, 3b(n - 3) - b(n - 2))}$$

The values of  $a(n)$

1, 1, 5, 7, 1, 11, 13, 1, 17, 19, 1, 23, 1, 1, 29, 31, 1, 1, 37, 1, 41, 43, 1, 47, 1, 1, 53, 1, 1, 59, 61, 1, 1, 67, 1, 71, 73, 1, 1, 79, 1, 83, 1, 1, 89, 1, 1, 1, 97, 1, 101, 103, 1, 107, 109, 1, 113, 1, 1, 1, 1, 1, 1, 127, 1, 131, 1, 1, 137, 139, 1, 1, 1, 1, 149, 151, 1, 1, 157, 1, 1, 163, 1, 167,...

We conjecture that :

\* Every term of this sequence is either a prime number or 1.

\* Except for the primes 2 and 3, the primes all appear in this sequence in order.

On the other hand the conjecture verified for  $n \leq 10000$ . The checking was facilitated by the following observation: for  $n \geq 4$ ,  $a(n) = 2n - 3$  if  $2n - 3$  is prime, 1 otherwise .

**Conjecture 3.3.** For all integers  $n \geq 3$  and  $m = -1$ . The sequence of the unreduced denominator is as follows

$$a(n) = \frac{n^2 - n - 1}{\gcd(n^2 - n - 1, b(n - 3) + nb(n - 4))}$$

The values of  $a(n)$  for  $n \geq 2$

1, 5, 11, 19, 29, 41, 11, 71, 89, 109, 131, 31, 181, 19, 239, 271, 61, 31, 379, 419, 461, 101, 29, 599, 59, 701, 151, 811, 79, 929, 991, 211, 59, 41, 1259, 1, 281, 1481, 1559, 149, 1721, 1, 61, 1979, 2069, 2161, 1, 2351, 79, 2549, 241, 1, 2861, 2969, 3079, 3191, ...(see A356247)

We conjecture that :

\* Every term of this sequence is either a prime number or 1.

\* Except for 5, the primes terms all appear exactly twice, such that

$$a(n) = a(a(n) - n + 1)$$

Consequently, let us consider the values of n and m such that we get:

$$a(n) = a(m) = n + m - 1$$

And

$$a(n) = a(m) = \gcd(n^2 - n - 1, m^2 - m - 1)$$

We have verified this conjecture to  $n = 10001$  (Bill Mceachen and Michael De Vlieger verification) by using the denominator of the continued fraction in the theorem (1.1) for  $m = -1$ .

**Conjecture 3.4.** For all integers  $n \geq 3$  and  $m = -2$ . The expression of the sequence  $a(n)$  is as follows

$$a(n) = \frac{n^2 - 2}{\gcd(n^2 - 2, 2b(n - 3) + nb(n - 4))}$$

The values of  $a(n)$ .

7, 7, 23, 17, 47, 31, 79, 7, 17, 71, 167, 97, 223, 127, 41, 23, 359, 199, 439, 241, 31, 41, 89, 337, 727, 1, 839, 449, 137, 73, 1087, 577, 1223, 647, 1367, 103, 1, 47, 73, 881, 1, 967, 1, 151, 2207, 1151, 2399, 1249, 113, 193, 401, 1, 3023, 1567, 191, 41, 71...

The sequence  $a(n)$  takes only 1's and primes.

**Conjecture 3.5.** For all integers  $n \geq 3$  and  $m = n + 2$ . The expression of the sequence  $a(n)$  is as follows

$$a(n) = \frac{3n - 2}{\gcd(3n - 2, (n + 1)b(n - 3) - b(n - 4) - (n - 1)b(n - 5))}$$

The values of  $a(n)$

7, 5, 13, 2, 19, 11, 5, 1, 31, 17, 37, 1, 43, 23, 1, 1, 1, 29, 61, 1, 67, 1, 73, 1, 79, 41, 1, 1, 1, 47, 97, 1, 103, 53, 109, 1, 1, 59, 1, 1, 127, 1, 1, 1, 139, 71, 1, 1, 151, 1, 157, 1, 163, 83, 1, 1, 1, 89, 181, 1, 1, 1, 193, 1, 199, 101, 1, 1, 211,...

The sequence  $a(n)$  contain only ones and the primes.

**Conjecture 3.6.** For all integers  $n \geq 3$  and  $m = n + 3$ . The expression of the sequence  $a(n)$  is as follows

$$a(n) = \frac{4n - 3}{\gcd(4n - 3, (n + 2)b(n - 3) - b(n - 4) - (n - 1)b(n - 5))}$$

The values of  $a(n)$

3, 13, 17, 7, 5, 29, 11, 37, 41, 1, 7, 53, 19, 61, 1, 23, 73, 1, 1, 1, 89, 31, 97, 101, 1, 109, 113, 1, 1, 1, 43, 1, 137, 47, 1, 149, 1, 157, 1, 1, 1, 173, 59, 181, 1, 1, 193, 197, 67, 1, 1, 71, 1, 1, 1, 229, 233, 79, 241, 1, 83, 1, 257, 1, 1, 269, 1, 277,...

The sequence  $a(n)$  takes only 1's and primes.

## Remark 2

Obviously many more such conjectures can be formulated.

## Acknowledgements

I would like to thank Bill McEachen for the numerous comments and suggestions. Thanks go also to Jon. E. Schoenfeld, Alois. P. Heinz, Michael De Vlioger and the other editor-in-chief of the on-line encyclopedia of integer sequences (Oeis).

## References

- [1] Eric S. Rowland, A Natural Prime-Generating Recurrence, Journal of Integer Sequences, Vol. 11 (2008).
- [2] Benoit Cloitre, 10 conjectures in additive number theory, <https://arxiv.org/abs/1101.4274>
- [3] David Angell, A family of continued fractions, Journal of Number Theory 130 (2010) 904–911.
- [4] Bernd C. Kellner, Some remarks on Kurepa's left factorial, arXiv:math/0410477v1 [math.NT] 21 Oct 2004.
- [5] N. J. A. Sloane, The On-line Encyclopedia of integer sequences, <https://oeis.org>
- [6] Plouffe Simon, A set of formulas for primes, <https://vixra.org/abs/1812.0494>